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PRIMARY 2
MATHEMATICS
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Name: ) ( ) Class: 2 ( ) Parent’s Signature:
INSTRUCTIONS TO PUPILS
1 Do not turn over the pages until you are told to do so.

2 Follow all instructions carefully.
3 There are 26 questions in this booklet.
4

Answer ALL guestions,

Possible Marks
Section
Marks Obtained
A 40
B 40
C 20
Total 100

This question paper consists of 14 printed pages (inclusive of cover page).



Section A {20 x 2 marks)
For each question, choose the correct answer and write its number (1, 2,

3 or 4) in the brackets given.

1. In the number 308, the digit 0 is in the place.
(1) ones
(2) tens
(3) bhundreds
(4) thousands ( )

2. 5 hundreds + 2 tens =
What is the missing number?

(1) 52

(2) 502

(3) 520

(4) 522 ( )

3. Mr Raja sold 500 curry puffs on Monday. He sold 177 fewer curry puffs
on Tuesday. How many curry puffs did he sell on Tuesday?

(1) 177

(2) 223

(3) 323

(4) 677 ( )

4, 30 more than 510 is

(1) 480

(2) 507

(3) 530

(4) 540 ( )
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Complete the number pattern.

450, 430, 410, , 370
(1) 350
(2) 390
(3) 400
(4) 430

Which of the following is the same as 4 groups of 3?

(M
(2)
3)
(4)

I3x3x3x3
34+3+3+3
4x4x4x4
4+4+4+4

Mother bought a flower with 5 petals.
How many petals do 6 such flowers have in ali?

(M
(2)
(3)
(4)

20
25
30
35

James has 10 toy trains. He puts 2 toy trains in each basket.
How many baskets does he need?

(1)
(2)
)
(4)

5
8
20
4
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10.

1.

28+4 =

= 10

The missing number in the box is

(M
(2)
@)
(4)

40
50
60
70

Look at the number pattern below.

Whatis > ?

(M
(2)
(3)
(4)

o]

20

Which one of the following would be the most likely length of your bed?

(1
(2)
Q)
(4)

2cm
2m
20 cm
20m
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12.

33

The bag of carrots weighs

(1)
(2)
)
(4)

370
380
390
400

How much money is in the bag?

(1)
(2)
3
(4)

$1.95
$2.00
$2.05
$2.10
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14.

15.

Beatrice has four two-dollar notes and one five-dollar note. Which two
items can she buy with all her money?

$11 each

sneakers

mineral water

(1)  sneakers and book

(2)  book and mineral water

(3) calculator and sneakers

(4) mineral water and sneakers

2

ﬁ and
I
@ -
@
(@) %
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make a whole. What is the missing fraction in the box?
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16.  The clock below shows the time Patrick wakes up for school in the
morning every day. What time does Patrick wake up for school?

(1)
2)
3
(4) ( L
17.  Look at the diagrams below.
Container J
Container K
>

Container L .
How many @ are needed to fill up Container L?
(1) 12
(2) 10
@ 8
(4 4 { )
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| 8.

The picture graph below shows the number of fruits that Mr Loh has in
his shop.

'Number Of Fruits

OO
COOG

|

Apples Bananas Oranges

Each stands for 3 fruits.

How many more oranges than bananas does Mr Loh have in his shop?

(1) 27
@ 12
3 3
4 9 ( )
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19.  Which one of the following figures is made up of straight lines and
curves?

1 (2)

(3) (4)

20. What is the missing pattern?

U0 . C

)
p—
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Section C : Word Problems (20 marks)

Questions 1 and 2 (2 marks each)

Questions 3 to 6 (4 marks each)

Work out the following problems carefully. Show each step of your
working clearly as marks will be given for working and relevant

statements.

; | There were 854 people at a concert. 379 of them were adults and the

rest were children. How many children were there?

There were children.

2. Mrs Lim bought a pizza. She cut it into 10 equal slices.
She ate 3 slices and her son ate 4 slices.

What fraction of the pizza was eaten?

The fraction of the pizza eaten was
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3. Mrs Tan bought 40 toy cars. She gave all the toy cars to her 5

children. Each child received an equal number of toy cars.

(a)  How many toy cars did each child get?

(b) One of her children decided to put his toy cars
equally in 2 boxes. How many toy cars were

there in each box?
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4. Jenny gets 3 stickers for every book that she reads.
She has just completed reading 8 books.

(a) How many stickers does Jenny get for the 8
books that she has read?

(b) Jenny can exchange 4 stickers for a pencil.
How many pencils can she exchange with the

stickers she has?
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5.

Grandma had some beads. She made 10 bracelets. She used an
equal number of beads for each bracelet. She used 100 beads to
make the bracelets altogether.

(a) How many beads did Grandma use for each bracelet?

(by  Grandma used the remaining beads to make 10 rings. She
used 4 beads for each ring. How many beads did Grandma
have at first?
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Mr Lee had $600. He bought a watch for $225 and a pair of shoes
for $178.

(@) How much did he pay for the watch and the pair of shoes?

(b) How much money had he left?

End of Booklet A
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INSTRUCTIONS TO PUPILS
1 Do not tun over the pages until you are told to do so.

2 Follow all instructions carefully.
3 There are 20 questions in this bookiet.
4

Answer ALL questions.

This question paper consists of 9 printed pages (inclusive of cover page).



Section B (20 x 2 marks)

Fill in the blanks with the correct answer.

1. Write 314 in words.

2. Use all the digits 0, 2 and 5 to make the greatest 3-digit even number.

3. 734 -l:l tens = 634

What is the missing number in the box?

4. What is the missing digit in the box?

9] 3
4 2 8
4 7 5
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5. Harry has 95 storybooks. He has 37 more storybooks than Peter.
How many storybooks does Peter have?

6.  Look at the picture and write a multiplication equation to show the total
number of fried eggs.

® I

What is @?
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10.

Kelly puts 5 raisins in each of her cookies. After putting 5 raisins on the
7™ cookie, she had only 2 raisins left. How many raisins did she have
at first?

Andrea chooses a number between 1 and 5. She multiplies it by 3 and
then by 10. The answer she gets is 90. What is the number Andrea
has chosen?

What fraction of the following figure is shaded?
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11.  Armrange the following fractions from the greatest to the smallest.

Greatest Smallest

12.  Fred weighs 61kg. He is 13 kg heavier than Joy. What is Joy’s mass?

kg
13.  Jamie started her swimming lesson at 3.30 p.m. .
Her swimming lesson ended one hour later.
At what time did her swimming lesson end?
p.m.
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14.  Bernard bought a hotdog bun for 45¢ and a stick of doughnuts for 30¢.
He gave the cashier $1. How much change did he receive?
(Give your answer in cents.)

15. The figure below is made up of two shapes.
Name the two shapes.

Shape 1:

Shape 2:
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16.

................................ i S e R 21 m

Block A Block B Block C

What is the height of Block B?

17. A flask has 650 m¢ of water. A bottle has 280 m¢ of water. How much

more water must be added into the bottle so that it has the same
amount of water as the flask?
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18.  Mrs Chan mixed 5£ of detergent with 29¢ of water. She used 16¢ of
the mixture to wash the toilets and kitchen. How many litres of the
mixture had she left?

19.  Look at the objects below.

chocolate orange log

Which 2 objects have flat surfaces?

and
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20. The picture graph below shows the number of books in the class library.

Study the graph and answer Questions 20 (a) and (b).

(b)

There are

The total number of Malay and Tamil books is

,-}'@

. Malay books

stands for 2 books.

English books.

Tamil books

more than the number of Chinese books.

Page 9 of 9
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BOOKLET A

Q1 Q2 Q3 04 Q5 | 06 Q7 | o8 Q9 | Q10
2 3 3 | 4 | 2 2 3 1 | 4 | 2

Q11 | Q12 | Q13 | Q14 | Q15 | Q16 | Q17 | Q18 | Q19 | Q20
2 | 3 1 | 4 2 | 3 |2 [ & | & | 2

Q1.854-379 =475 Answer: There were 475 children
Q2.3+4=7 Answer: The fraction of the pizza eaten was -17—0

Q3a.40 = 5 = 8 Answer: Each child get 8 toys.

Q3b.8+2 =4  Answer: There were 4 toy cars in each box.
Q4a.8X3 =24 Answer: There are 4 stickers on 8 books.

Q4b.24 + 4 = 6 Answer: She exchanged 6 stickers for a pencil.
Q52.100 = 10 = 10 Answer: Grandma had 10 beads for each bracelet
Q5b.10 X 4 = 40 Answer: She had 40 beads at first.

Q6a.225+ 178 = 403 Answer: $403

Q6b. 600 -403 = 197 Answer: She had $197 left.
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TERM : REVISION PAPER 1

Q1. Three hundred and fourteen. 02.520 Q3.10 Q4.0
Q5.58 06.4X4=16 Q7.2

Q8.7 X5=35
35+2=37 Answer: 37

Q9.3X3=9
9X10=90 Answer: 90

Q10.>  QiL Q12.48  013.4.30 (i4.25

L2 A
&'7"8
Q15. Shape 1: Rectangle Shape 2: Semicircle

Q16. 4 Q17.370

Q18.29+5=34
34-16+18 Answer: 18

Q19. Chocolate and log
Q20a. There are 16 English books.

Q20b. 14
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